Liquifle

www.liquiflo.com

SERIES GROUP CONFIGURATION
Centrifugal Pump

ENDURA | Close-Coupled Version
Mag. Drive (New)

5

PP0F0P0P0BP00008

AN

NN

ZAMIIRRY
\

N
NN

N
N

|

NN

N

DWG. NO. E5473CC REV. B

i

PARTS LIST
TTEM | REGD DESCRIPTION
CASING 3 x 2 x 8, 150k RF SERRATED
F MPELLER 3 x 2 x 8 (CLOSED)
3 CASING COVER 3 x 2 x 8 AND 4 x 3 x 8
[ DRAIN PLUG, 1/2 NPT
5 5/8-11 x 1-1/4_SHCS (BOLT, CASING)
28 6 RING, ADAPTER (3’ INLET)
7 74-20 x 1-3/4 SHCS (BOLT RING ADAPTER)
8 WASHER, IMPELLER
e 1/2-13 x 1-1/4 HHCS (BOLT, SHAFT)
1 SHAFT
8 2 WASHER, INNER_MAGNET
3 HOLDER, BEARING THRUST (HAGNET END)
4 | 2 |PIN, BEARING THRUST
V 15 | 2 | BEARING, THRUST
16 | 1 | WASHER, BEARING THRUST (MAGNET END)
17 | 2 | BEARING, STATIONARY
NN @ 18 | 2 | BEARING, ROTATING
9 | 2 | O-RING, BEARING RETAINING (2-237)
7‘ D P | TOLERANCE RING, SHAFT
21_|_4 [PIN, SLEEVE BEARING
72 74-28 x 3/8 SHSS-HD (SET SCREW, SPACER)
\ 73 SPACER, SLEEVE BEARING
24 SPRING, BEARING PRELOAD
25 WASHER, BEARING THRUST (IMPELLER END)
1% ) 26 HOLDER, BEARING THRUST C(IMPELLER END)
¥ 27 EY, INNER MAGNET
y 4 2 EY. INPELLER
33 BUMPER O-RING, CERAMIC CONTAINMENT CAN
3 FLANGE, CERAMIC CUNTAINMENT CAN
35 CONTAINMENT CAN, CERAMIC
% | 1 | INNER MAGNET &
INNER_MAGNET 3"
1 27 | 1 |DUTER MAGNET 2" (CERAMIC CAN)
OUTER MAGNET 3' (CERAMIC CAN)
38 3/8-24 x _1-1/2 SHCS CBOLT, CONT, CAN)
- o4 4 ADAPTER, TAPER LOCK
4 BUSHING, TAPER LOCK (254/2561C)
42 | 2 | 1/2-13 x 1 SHSS (SETSCREW, TAPER LICK)
45 BRACKET
4% ADAPTER, MOTOR (254/256TC)
47 | 4 | 1/2-13 x 1-1/2 SHCS (BOLT, CASING COVER)
48 | 4 |1/2-13 x 1-1/4 SHCS (BOLT, BRACKED)
4| 1/2-13 x 1-1/2 FHCS (BOLT, ADAPTER)
50 | 2 |EYEBOLT
5L | 2 | NUT, EYEROLT
\ \ 14 5 O-RING, CONTAINMENT CAN (2-165)
56 GASKET, CASING
57 FOOT, BRACKET
7 58 | 2 | 1/2-13 x 1-1/4 SHCS (BOLT, FOOT BRACKED)
60 | 1 | PLUG 174 NPT SOCKET HEAD

Y




